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⋄ Page 177, Exercise 11 原文 in the strip {𝑥 + i𝑦 ∶ |𝑦| < 𝜋} 更正 in the
strip {𝑥 + i𝑦 ∶ |𝑦| < 𝜋

2 }

⋄ Page 177, Exercise 11 原文 ̂𝑓(𝜉) = Γ(𝑎 + i𝜉) 更正 ̂𝑓(𝜉) = Γ(𝑎 − 2𝜋i𝜉)

⋄ Page 179, Exercise 17 原文 indefinitely differentiable 更正 infinitely dif-
ferentiable

⋄ Page 179, Exercise 17 原文 (b) Prove that 𝐼(0) = 0 更正 (b) Prove that
𝐼(0) = 𝑓(0)

⋄ Page 179, Exercise 17 原文 (b) 𝐼(−𝑛) = (−1)𝑛𝑓 (𝑛+1)(0) 更正 (b) 𝐼(−𝑛) =
(−1)𝑛𝑓 (𝑛)(0)

⋄ Page 179, Problem 1 原文 (a) 𝜁(𝑠) = ∑
1≤𝑛<𝑁

𝑛−𝑠−𝑁𝑠−1

𝑠 − 1 + ∑
𝑛≥𝑁

𝛿𝑛(𝑠) 更正 (a)

𝜁(𝑠) = ∑
1≤𝑛<𝑁

𝑛−𝑠 − 𝑁1−𝑠

1 − 𝑠 + ∑
𝑛≥𝑁

𝛿𝑛(𝑠)

⋄ Page 180, Problem 3 原文 𝜁(𝑠) = 𝑠
𝑠 − 1 − 1

2 +𝑠 ∫
∞

1

{𝑥}
𝑥𝑠+1 d𝑥 更正 𝜁(𝑠) =

𝑠
𝑠 − 1 − 1

2 − 𝑠 ∫
∞

1

𝑄(𝑥)
𝑥𝑠+1 d𝑥

⋄ Page 180, Problem 3 原文 𝜁(𝑠) = 𝑠
𝑠 − 1−1

2+(−1)𝑘𝑠 ∫
∞

1
( d𝑘

d𝑥𝑘 𝑄𝑘(𝑥))𝑥−𝑠−1 d𝑥

更正 𝜁(𝑠) = 𝑠
𝑠 − 1 − 1

2 − 𝑠 ∫
∞

1
( d𝑘

d𝑥𝑘 𝑄𝑘(𝑥))𝑥−𝑠−1 d𝑥

1



⋄ Page 201, Exercise 4 原文 𝑄(𝑥) =
𝑞−1
∑
𝑚=0

𝑎𝑚e𝑚𝑥 更正 𝑄(𝑥) =
𝑞−1
∑
𝑚=0

𝑎𝑞−𝑚e𝑚𝑥

⋄ Page 204, Problem 2 原文 𝜓1(𝑥) = 𝑥2

2 −∑
𝜌

𝑥𝜌

𝜌(𝜌 + 1)−𝐸(𝑥) 更正 𝜓1(𝑥) =

𝑥2

2 − ∑
𝜌

𝑥𝜌+1

𝜌(𝜌 + 1) − 𝐸(𝑥)

⋄ Page 204, Problem 2 原文 𝑐0 = 𝜁′(−1)/𝜁(−1). 更正 𝑐0 = −𝜁′(−1)/𝜁(−1).

⋄ Page 309, Exercise 1 原文 the first two derivatives 更正 the first three
derivatives

⋄ Page 311, Exercise 5 原文 Use also 𝑚𝑥𝑚−1(1 − 𝑥) < 1 − 𝑥𝑚 < 𝑚(1 − 𝑥)
更正 Use also 𝑚𝑥𝑚−1(1 − 𝑥) ≤ 1 − 𝑥𝑚 ≤ 𝑚(1 − 𝑥)

⋄ Page 313, Exercise 12 原文 the sum of the divisors of 𝑑 更正 the sum of
the divisors of 𝑛

⋄ Page 314, Problem 2 原文 |ℑ(𝜏)| ≥ 0 更正 ℑ(𝜏) ≥ 0

⋄ Page 314, Problem 2 原文 𝑤 更正 𝜏 ′
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